EARAROBREBRT —5 XN—ZXBISH—F

2024598288 (£) 3EHR8H

SR eI

Giilac)

(‘EA

T HERE]

Sl

EEE=CIEE

20000 R

[AE%] 17%&:7,200,000 § ~ 237&:2,900,000 .~ 375:1,800,000 437%&:1,100,000 5 3&:720,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o = JErMR— :03. -10-9- . . FEEAL (FER)
118117 OrRU RS it 2 it 2(0_3)6 10-10-9-10 | 33.8 | 82.4 | 5 2132) gans
RIARASKR=Z—9 B:UNLIVT #HEI77—LA
=75 4 2 | HALLBLAT 2:04.2 12-11-14-12| 34.2 | 75.9 | 3 488 | SR (RF)
1 o =P 55.0 31/2) () | BESHIME—R—LF (VTR
RidI—=ILRYY T 8:T509—N\A HO%
~ ) A o2 | BREwER 2:04.4 4-6-4-4 |35.0| 72.5 | 6 | 474 |=EFRMN ERR)
31713 M V9—R—Y 55.0 a 1/4) (—) |BR&AVILT
RIIET7RAT7 BiAUNU RTF—) J=HUT7—L
Y I~ # o2 | A vagys 2:04.4 4-4-5-4 35.0( 72.5 | 1 | 522 |AIZE (ReE)
N 1 VAP, 55.0 F5%) ) W 5/ 972
R:FRF B:hHY7—rST J—YUIr—L
N ALlsTS :04. -4-5- . . HFHBET (FER)
5 4| RAYFERT W b 32 Jules 2(10/42)5 4-4-5-4 | 35.1| 70.7 | 15 (456) %mlﬁ%
RYN/O5YY B:VaThovaY YUAYTTF— L
= =g s 2 | SEE 2:04.5 1-1-1-1 | 35.5| 66.5 | 7 494 EY ()
611 |TA—TIIvhk 5.0 B ) |Z=Es
R:FISU—vavATor— B:NIVITSAD MRS
SV~ N . iz apees) : -2-2- LR (=R
71112 ¥z MLNO-X 2T 2(90?1)6 S Rl Rl B (438) SRR .
R:OYVv—NO—X B:y3avFrrhASvh E=aiLe ]
S ~ s 2 | BHER 2:04.6  [12-11-12-12| 34.5| 71.6 | 8 | 476 |EE=E (FER)
87|14 XM¥av+r9I4 55.0 ) (=) |HEsFE
R:T4I—=ILXY BE—IARAFTT« KERIS
~)\— B2 | At 2:05.0 2-3-2-3 [35.9 59.0 | 13 | 422 |NEE ER)
9 6| TVN—h .0 21/ (=) | @) ZyyYR—LT4 VTR
R:ASAVF4— B:TF1I7AVTUEVR LITVRIT7—L
~ 8 2 | FREERET 2:05.0 7-8-9-7 |35.4| 63.9 | 17 | 424 |EEMAK ER)
1081 3| IREDVETUY 55.0 &) (o) | @ EvILyRrIz—L
RidI=ILRYY S B:I7UTF0 T —=UTY EvIUy RI7—LA
“— . HHERH : -11-5- ERET ('R
18 75y o FLA2 32 et 2.?35;.5 12-11-5-7 | 35.8 | 56.5 | 2 (552) iﬁf&g E®R)
R:FIYUITSvT B:AFvVIN— el
o w ; s o2 | RHIBE 2:05.6  |10-11-13-12| 35.5 | 58.7 | 4 | 498 |KEEA &R
12 5|10| @ v v IFTE 5.0 ) (o) |BEE
X:Wootton Bassett £F:Magic America Mr R. Mcdonald
s o2 | FEE= 2:06.3 7-7-9-7 |36.6| 44.0 | 16 | 452 |BiE—E (FR)
EH 5| FIaUNF 55.0 @) =) el
R:TUYIRPYRENIIN B:RAAALTI—F A+ FIET 7—L4
o= s 2 | MRS 2:06.4  |15-15-15-15|35.5 | 53.0 | 12 | 426 |=HE3L GER)
14|8|15| JAEF ¥ 1 55.0 (7 o | @ EvTuyror—n
R:ZAIU—vbe—0O— B:RFAYPIRFTaovT EvIUy RI7—LA
-3, = 42 | FHH 2:06.4 7-8-8-10 |36.5| 44.1 | 14 | 470 |SHET EFERN
151816 =Y/ ZF7F 55.0 “E) (—) | BT
RiZa—AV—RFA B:NS—F4UL JIDSTTF—L
N \ % o2 | B2 2:06.4 17-16-16-16| 35.3 | 53.1 | 11 | 512 |RESR# ER)
i 2 XAV ZZA 55.0 \F) (—) | @) /=2ELX
RN—EYIv— B:I54=r70-X #Rat /—ReLX
- _ # 2 | EEFARL 2:10.3  [16-17-17-17| 38.1| 07.8 | 10 | 502 |HEERE (ER)
17/5|9| 77 —=RTU—=7J 55.0 ) o) | ® G1L=yy7
RiFIYYTSwT #:h=FIbE—h (B) He1-RU—yavaEI7
[ BN
Eh' 46.7-34.6
NOVF AL | 13.0-11.6-13.8-13.5-12.8-12.2-12.1-11.8-11.4-11.4
@ 11— —BBIEfI
13—7— (*1,2,6) (4,7,13) (3,5,16) (10,17) (14,11,12)15=9,8
20—F— (+1,2)6(4,7)13,5(3,16)17(14,11,10,12)-15,8,9
Jal=zr= (+1,2,6)13(4,7,12)16(3,5,17)14,10,11-15,8-9
43— — (*1,2)6(4,7,13) (3,5,12) (16,17) (11,14,10)=15,8=9
o ILRE
B B 17 1,180H JA R 11-17 1,010 3= 6-8 1,100 3JEE | 11-13-17 11,070M4
g B 17 350 13-17 1,870M Fs E 11-17 2,760 3JEE | 17-11-13 64,230
1 210 11-13 1,170M o= 17-11 5,990
13 360

ABIC OV TRUTEREERRODDZE. THRIIZEL.



